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is a protected trademark of cwwt and may not be used without permission. . A: Your regex was missing the ending / character. Your pattern is matching as much as it can, which includes your declaration of a line continuation character, and then matching against every \s+ character (that is, as much as it can). So, your original regex is:
(79).#\$7Registration\$?Code\$ 2:\s ¥ \b((2: AT I"[A"1* ") ¥ Ns+(2:"[A"TF") F\b(2:\s+[0-9]{ 4 }-\w {3 \s*-\w{3 }).* Demo (?s).* - This is a DOTALL modifier, which requires all. characters (dot characters) to match newline characters too. This ensures that your string doesn't get split into multiple chunks, and does not create an infinite loop in case there's any metacharacters in there.
\$? - This matches the $, but makes sure that there's no newline before the $, as.* could match any length of text until the first $ appeared. Registration\$? - Matches your Registration\$?Code pattern. Code\$? - Matches your Code\$? pattern. (?:'[N']*'I"[A"]*")* - Matches the sub-pattern zero or more times. We are expecting that any character will match, so the * is applied to
any character in this string, rather than every character. \s+ - Matches one or more whitespace characters. \s* matches zero or more whitespace characters, not the whole string. [0-9]{4 }-\w{3}\s*-\w{3} - Matches 4 numbers followed by any number of spaces, an underscore, any 3 characters in the range 0-9, and a space. .* - And finally, it's followed by anything. To be honest,
though, there's some other problems with this pattern. You could change it to: (?s).*\$?Registration\$?Code.*\s+(?:"[0-9]{4 }-[\w-]{3 } [\s-1{3 }[0 2d92ce491b
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